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“NIT 4: Solving SYSTEMS of Equations using
ELIMINATION method!

s AN | can solve a system of equations by
Unit 4, Page 41 =g

“lﬂe addition method of solving systems of equations is also called the method of elimination. This method is similar to the
rt-athod.you ppbabty learned for solving simple equations. If you had the equation “x + 6 = 11, you would write "-6"
under either side of the equation, and then you'd "add down" lo get "x = 5" as the solution,
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You'll do something similar with the addition method.

« Solve the ;ollowlng system using addition. o
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Note that, if | add down, lhe')}s will cancel out. So I'll draw an "equals” bar under the system, and add down.
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Now | can divide through lo solve 1o and then back-solve, using either of the original equations, to find the

a value of y. The first equation has smaller numbers, so I'll back-solve in that one: y
i 29 tyes  Jubshhube 5 far X i el cjuchon—
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E tnd Solve for Y-

Then the solution Is (x, y) = (5, -1).

* It doesn’t matter which equation you use for the backsolving, you'll get the same answer either way. If I'd used the d
equation, I'd have gotlen secon
3x—y=16

| ek Solution |
- ] . e
| = (5,-1)
which is the same result as before X Y

————



~~ Unit 4, Page 42 ~~

Solving Systems by Elimination
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Solution:@

(hecke €41
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G=24

Solution: M

NOTES

@ 5) Write your solution as a coordinate point. |

: Q_ 3y = -7 & BpSel!
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-y = =1L 12

Solution@,_l. ¥
262)-3(1) =7
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-y +(-3)=-1
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Solving Systems by Elimination...

#2)Make sure that when you add your

equations, one of the variables will be
eliminated.

ﬂdd the two equations.

3 Solve for the variable. (Isolate)

a) Substitute your solution back in for your
known variable to calculate the second

valug,

}Q’.gl)c_c}t  your solution by substituting your
solution back into both equations.




